College Algebra — Joysheet 6 Name: S"“‘f OQ‘“‘
MAT 140, Spring 2018 — D. Ivansié Covers: 3.1, 3.2, 8.3 Show all your work!
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Simplify, so that the answer is in form a 4 bi.
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3. (4pts) Slmphfy and Justlfy your answer.
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4. (8pts) The amount of oil (in tons) arriving daily to refinery is given by A(z) = z* —
14z + 70, where z is the number of days after March 26th. On what dates were 46 tons
arriving daily?
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6. (6pts) Solve by completing the square.
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7. (12pts) The quadratic function f(z) = —2z* + 7z — 3 is given. Do the following without
using the calculator.

a) Find the z-intercepts of its graph, if any. Find the y-intercept.

b) Find the vertex of the graph.

c) Sketch the graph of the function. A
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8. (12pts) Farmer Christy has a 3 kilometer by 4 kilometer rectangular field and wishes to
enlarge it by increasing the length and the width by the same amount. If the bigger field is
to have a diagonal whose length is twice the length of the diagonal of the original field, by
how much should she increase the lengths of the sides of the original field?
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